Chapter 5: Power, Polynomial & Rational Functions

5.Rev.2 ~ Porynomar FUNCTIONS

1.

Find the zeros of p(x) = x(x + 5)(x + 3)(x — 2)2.

Describe the end behavior of p(x).

lim f(x) =

X——00

i f) =

Name:

Could the graph (at the right) represent p(x)? Explain your reasoning.

Describe the error in graphing the polynomial functions.

f(x) = x*(x — 3)°

Match the function with its graph.

3

4,

5.

Problems 7 — 14, match each equation or description to one of the graph

f

7.
8.
9.

10.
11.

12.

13.
14.

@) == Dx —2)x +2)
h(x) = (x + 2)2(x + 1)
gx)=(x+ DHx— DHx+ 2)

f) = (x — DAx +2)

f(x)=—-ax®+b
gx)=ax®+--+d
h(x) =ax*+4--—e
p(x) =ax®+ - —f
q(x) = —ax®>+--—g

An even function with no x-intercepts and a
positive leading term
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An even function with three real zeros and a negative leading coefficient

An odd function symmetric about the origin with a negative leading coefficient




Analyze each polynomial function for its long-run and short-run behavior. Sketch its graph by hand.

15. f(x) = 2(x + 2)?(x — 4)3

LEADING TERM: X-INTERCEPTS:

CROSS OR

END BEHAVIOR: ZERO MULTIPLICITY TOUCH

lim )= Jim f(x) =

X——00

Y-INTERCEPT:

16. f(x) = —x3(x — 1)?(x + 4)

LEADING TERM: X-INTERCEPTS:

CROSS OR
TOUCH

END BEHAVIOR: ZERO  MULTIPLICITY
lim f(x) = lim f(x) =
X—00

X——00

Y-INTERCEPT:

Find a formula for the polynomial whose graph is shown.
17.

f(x)

7
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SKETCH:
N

SKETCH:
N 7

19. For the polynomial described, fill-in any indicated boxes. Sketch the polynomial AND write its formula in

factored form.

LEADING TERM: even & negative
X-INTERCEPTS:

END BEHAVIOR:
i i ZERO  muLT.  SROS¥/
lim f(x) lim f(x) * TOUCH
X—>—00 X—00
_5 2
Y-INTERCEPT < 0 2 1
4 1
PASSES THROUGH (3, 128)
FUNCTION FORMULA:
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